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Figure 2 shows part of the curve with equation y = x2 + 2.
The finite region R is bounded by the curve, the x-axis and the lines x = 0 and x = 2. 

(a) Use the trapezium rule with 4 strips of equal width to estimate the area of R. 
(5)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(b) State, with a reason, whether your answer in part (a) is an under-estimate or over-estimate of the area of R.


(1)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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2) Given that 
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 , x > 0,         evaluate 
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(8)
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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Figure 2
                                              y
                                                                                               C

                                           O          A                            B                                    x


Figure 2 shows part of the curve C with equation y = f(x), where

f(x) = x3 – 6x2 + 5x.


The curve crosses the x-axis at the origin O and at the points A and B. 


(a)
Factorise f(x) completely.

(3)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..


(b)
Write down the x-coordinates of the points A and B.

(1)

……………………………………………………………………………………………………………………………………………………………………………………………………………………..
(c)
Find the gradient of C at A.

(3)


…………………………………………………………………………………………………………………………………………………………………………………………………………………..…


The region R is bounded by C and the line OA, and the region S is bounded by C and the line AB.

(d)
Use integration to find the area of the combined regions R and S, shown shaded in Fig. 2. 

(7)

……………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………..………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….………………………………………………………………      [Edexcel P1 Nov 03 Qu8]

Did your score match your estimated ‘success level’ ?

	Skill
	Qu
	(
	(
	(

	I can approximate areas under a curve using the trapezium rule
	
	
	
	

	I can evaluate definite integrals     
	
	
	
	

	I can find the area under a curve using definite integration
	
	
	
	


               ( Yippee!! - I got all the questions correct.

               ( I got most of the questions correct.

                 ( I made too many mistakes and need to practise this topic more.

	Top 3 topics I need to study further are:

	


Score:		Percentage:			Grade:		    Effort:





R





S





R





Low                 High


 O     O     O     O	





Overall, for this assessment I think my success level is: 
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